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N.B: {1) All the symhols and notations have their usual meanings.
{2) Figure at the right hand side of questions indicate full marks.

Q-1) Choose the correct option for the following questions. 10

{1) The Huygens eyepiece is ..... type of eyepiece,

{a) Positive (b) Negetive {c) neutral {d) None of these
(2) When object point is not situated on the axis then aberration produced by the Lense is
called........
" (a} Astigmatism (b} Distortion {c) Coma {d) All of these
(3} Petzwal’s Condition is used to reduce the ...
(a) spherical aberration {b} Coma
(c) Astigmatism {(d} Field curvature
{4} In Newton's rings arrangement the thickness of the air gap at the contact point of the
lensis.......
{a) A {b) A/2 {c) 2\ {d) zero
{5) N -Sslit diffraction belongs to ........ cfass of diffraction.
{a) Michelson {b) Fresnel {c) Newton {d) Fraunhoffer
{6) The refractive index of Canada balsam is .......... '
{a) 1.65 {b} 1.55 (c}1.44 (d) 1.33
{7) Calcite is an example of ............ Crystal.
{a) uniaxial {b) biaxial {c) triaxial {d) tetraaxia!

{8) The intensity of the transmitted polarized light is ...... of the incident unpolarised light
iniensity. '

{a) double {b) quarter {c) balf {d} triple
{9) At the input and of optical fibre in optical fiber system is...... 7
{a) photo diode {b} faser diode {c} nicol prism {d}photo detector
{10) The value of fractional referactive index change is always .......... for the total internal
reflection condition.
{a) Positive (b) Negetive () zero {d) None of these
Q-2 ) Answer the following questions.{Any Ten) 20

(1) Define power of lens and state its unit,

(2) Define spherical aberration.

(3) Give merits and demerits of Huygens eyepiece.

{4) Enlist the technigues for obtaining interference.

(5) Give comparison between the fringes produced by Biprism and Lloyd’s mirror.

C p.T-0-)

©




(6) Explain construction of Lleyd’s mirror,

{7) Define (i) unpolarized light and {ii} plane polarized light.
(8) State Malus law. -

(9) Explain polarization by double ref. raction. -

(10} What is numerical aperture?

(11) Define acceptance angle.

{12) Give any four advantages of optical fibers,

Q-3 ) {A) Derive the equations of equivalent focal length and all the cardinal points
for combination of two thin lenses, :
OR
(B) Discuss the construction of Ramsden eyepiece and calculate the position of
cardinal points with diagram hence give its advantages and disadvantages.

Q-4 ) (A) Explain the experimentai arrangement to observe Newton's rings.
(B) Explain construction and working of Febry-Perot interferometer and etalon,
. OR
(C) Explain construction and experimental arrangement of Fresnel Biprism.
{D) What is diffracton ? Explain types of diffraction.

Q-5 ) (A) Explain the theory of superposition of waves linearly polarized at right angles.

(B) Write a note on Nicol Prism,
OR
(C) Discuss Brewster’s [aw.
{D} Give differences between positive crystal and negative crystal.

Q-6 } (A) Derive an expression for the critical propagation angle for an optical fibre.
(B) Explain total internal reflection.
OR
(C) Whatis optical fiber? Discuss its structure in brief,
{D) Write a note on single mode step index fibre,
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